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QUESTION 1

Once the Deployment finishes, Cloud Security Posture Management applies default network security posture that does
what? 

A. Minimizes the risk of external threats by blocking access to high risk sites and external users 

B. Minimizes the risk of external threats by blocking accessed to the internet 

C. Minimizes the risk of external threats by blocking access to all internal resources 

D. Minimizes the risks of external threats by blocking access to services and ports 

Correct Answer: D 

 

QUESTION 2

One of the limitations in deploying Check Point CloudGuard Cluster High Availability is that: 

A. State synchronization is required and must be done ONLY on a dedicated link 

B. High Availability configurations support only two Security Gateway Members 

C. High Availability configurations support only three Security Gateway members 

D. VMAC mode is mandatory for all cluster interfaces 

Correct Answer: B 

 

QUESTION 3

The framework for cloud security consists of five basic components, or pillars Making small, reversible changes is a
design principle of which of these five pillars 

A. Reliability 

B. Performance Efficiency 

C. Cost Optimization 

D. Operational Excellence 

Correct Answer: D 

There are five design principles for operational excellence in the cloud: Perform operations as code Make frequent,
small, reversible changes Refine operations procedures frequently Anticipate failure Learn from all operational failures 

 

QUESTION 4
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Adding new Security Gateways as system load increases is an example of __________ 

A. Vertical Scaling 

B. Network Scaling 

C. Horizontal Scaling 

D. System Scaling 

Correct Answer: C 

 

 

QUESTION 5

A utility that allows integration between SMS, the CloudGuard Network Solution, and CSPs, allowing the SMS to
monitor and control scaling solutions in their associated cloud environments is called 

A. CloudGuard Management Extension (CME) 

B. CloudGuard Controller and Enforcer (CCE) 

C. CloudGuard Scanner and Enforcer (CSE) 

D. CloudGuard Controller (CC) 

Correct Answer: A 
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